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ECONOMICS
( Major )

Paper : 6.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1%7=7
were Al 2pTYEd Ted fad

(a) What is incremental budget?

IS s 2

(b) Give an example of neutral tax.

oS 99«1 Svzae T |

(c) Write the meaning of canon of equity as a
characteristic of good tax system.

Tey 39 EEE 3P B vHer Mt wY
feram |

(d) State one objective of fiscal policy.
ECFRT TS @61 T TeaEd 411
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(2)

(e) Write the meaning of federal finance.
Jegy fes 5 fors |

() What is relative taxable capacity?
AT 9 2w el [ 2

(g) Write one limitation of federal finance
system in India.

SRS FSEH {8 TIRR 57 FFmer B |

2. Answer the following questions : 2x4=8
©TS Al eppTgEs Teq fore
(@) What do you mean by tax credit?
9 &1 Jferee F ge 2
(b) Mention two factors responsible for low
level of taxable capacity in

underdeveloped countries.
SIS OrPTES AE 9 2AWH HIeR A6 SoIRE
H01 oy SeEw <47 |

(¢) Write a brief note on Goods and Services
Tax (GST).
AR S a1 F99 95T 5 Ol 1= |

(d) Define government budget.
BIFIRN AMceB e A |

3. Answer any three of the following questions :
5x3=15
TS firxt {7 copreanr fofaibt 2rd Tas fora

(@) Discuss the recommendations of 14th
Finance Commission of India.

ST v e SIaE SRR Sces 47 |
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(3)

(b) Discuss briefly the relative superiority of
indirect taxes over direct taxes.
HOPF FIOLF AT $I9 S TPES! B2
el 1 |

(c) “Expenditure is a better index of ability to
pay than income.” Analyze.
ORI W P M TR S < 17
R <41 |

(d) Distinguish between horizontal and

vertical fiscal imbalance. Write down one
purpose of tax sharing in fiscal

federalism.

SARRE WE GoTg ASCFRE PN I&ws A1
ST | YSABH TSP JIES P HHF 901
T foram |

fe) Discuss about the benefit principle of
taxation.

T RE ST R AT <647 |

4. Answer any three of the following questions :
10x3=30

were fagr & (rean fofot e Teg forsr -

(a) Explain the various types of government
budget. Briefly discuss about the
economic classification of government
budget. 6+4=10
9ol AEby RfSA ez i T | 5Pl
&5 FLATST NFIR [FEey vIRiR A=A

<47
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(4)

(b) Distinguish between progressive and
proportional taxes. Consider their
advantages and limitations. 6+4=10
T WF A $99 Fee A
cred | PR i o SREermz [{ewl
40|

(c) Classify impact, shifting and incidence of
tax. Explain the concept of forward and
backward shifting of tax. 6+4=10
T RS, PR AR oS e 4|
FIT SN SAF 2pOIRSIT S#{IRe HIRETCH! T
4T '

(d) What do you understand by taxable
capacity? On what factors does it

depend? 4+6=10
99 A e & @ 7 2 7 & T erwe
© ?

(e) Discuss the ability to pay theory of tax.
What are its merits and demerits? 10

9 2ql L NSTo1 S T4 | TR B9
W CTRPTR o 1% 2

(/) What do you mean by fiscal policy?
Explain the role of fiscal policy in

developing countries. 2+8=10
TeERE A I @ TR e
A e SR A0 40 |
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